NAME: Date: Grade:

(From Grade Calculation on last page)

Course:

. Written Exercise 4: &5

Translate the foIIowing Greek text into correct English (58 answers):

0 GaBBatm 0 Xplorog 8615(101(8 0 Ao@ TO svayys?uov 70D Og0D M cwvayc)yn KOl Ol uaenwl o0TOD Moo
EKEL KOl 0KOT) mcovov avTov 0Tl o "Incodg 518wcuog NV Kot ot Koym Oeod1daxtol T noav KOl 0T ocp)mg ot ua@nwl
avarpa(pov napa TOVG noﬁag 700 ' Incod. avTog usra&&ou AOTOIG mv ayyshow ™G owowmg Kol apnvng ano TV
TPOPNTOV. THV SLSaxnv oD ToL naps}»auﬁowov Kol swmcovov 31" avtovg evmapedpoug @ Oed evar. GAAX TO
TPEGPLTEPIOV GOVIXOV TO OTOL KOl KHVKTHPLLOV 0DTOV.

< Parse the following words according to the appropriate model (81 answers):

10 cappatw/ (7 answers): 2 - Loc ( ) - N - S - capBarov, 10 -

0 Xpiotog (7 answers): Proper Name - Nom ( )-M-S - Xpio10g, 0 -
ed1dacke (8 answers): Impf ( )-Act-Ind-3-S - diddockw -

0 Aow/> (7 answers): 2 - Dat ( )-M-S -Xaog, 6-

10 evayyelov (7 answers): 2-_ (Dir Obj) - N - S - evayyghiov, 10 -

10D Ogov (7 answers): 2 - Gen (Poss) - M - S - 0gog, 0 -

M cvvayoyn/ (7 answers): 1 - Loc ( ) - F-S - cuvayoyn, n -

kat;: Coordinate conjunction introducing an independent clause -

ot pabnron (7 answers): 1 - Nom ( )-M-P - pobnng, o -
avtod (10 answers): Pers Pron - Gen ( )-M-S - avtog, 1, -0 -
noav (7 answers): Impf ( )-Ind-3-P - gyi-

gxe1d: Adverb of place -
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kat;: Coodinate conjunction introducing an independent clause -

akof) Nkovov (8 answers): Impf ( )-Act-Ind-3-P - dxoowm -

avtov (10 answers): Pers Pron - ( )-M-S - avtog, -, -0 -

ot (3 answers): Subordinate conjunction introducing a conjunctory clause -
0’ Incodg (7 answers): - Nom (Subj) - M - S -"Incodg, 0 -

S1doxtioc (9 answers): Adj (Pred) - Nom - M - S - 8idaxtiog, -0, -0v -

nv (7 answers): Impf (Desc) - Ind - 3 - S - i -

kat;: coordinate conjunction introducing independent clause -

ot Adyot (7 answers): 2 - Nom (Subj) - M - P - Loyog, 0 -

Oeodidaxtor (8 answers): Adj ( ) - Nom - M - P - 6god180xktoc, -0V -

noav (7 answers): Impf (Desc) - Ind - 3 - P - i1 -
kat;: coordinate conjunction introducing independent clause -

ar apyng (7 answers): 1 - Abl (Sep) -F - S - , -

ot padntat; (7 answers): 1 - Nom (Subj) - M - P - pabntng, o -

QVETPEQPOV TTOPA TOVG TOdag (8 answers): (Dur) - Act - Ind - 3 - P - avotpepw -

100 " Inood (7 answers): Proper Name - Gen (Poss) - M - S - " Incovg, o - of
avtog (10 answers): Pers Pron - Nom (Subj) - M - S - avtog, -0, -0 -

petedidov (8 answers): Impf (Desc) - Act - Ind - 3 - - peTadidmu -

avtdic (10 answers): Pers Pron - Dat(Indir Obj) - M - P - a0tog, -1, -0 -

v ayyehav (7 answers): 1 - Acc (Dir Obj) - F - S - ayyehia, 7 -

¢ ayamng (7 answers): 1 - Gen (Desc) - F - S - ayann, 1 - of
kat;: coordinate conjunction linking two nouns -
gpnvng (7 answers): 1 - Gen (Desc) - F - S - gipnvn, n - of

ano tdv mpoentdv (7 answers): 1 - (Source) - M - P - mpoenng, 0 - from
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v ddaymv (7 answers): 1 - Acc (Dir Obj) - F - S - , - this

avtot (10 answers): Pers Pron - Nom (Subj) - M - P - awtog, -1, -0 - they

noperapPavov (8 answers): Impf (Desc) - Act - Ind - 3 - P - maporapfave -

kat;: coordinate conjunction introducing independent clause -

gonkovov (8 answers): ( )-Act-Ind-3-P - -
31 ... ewon (7 answers): Pres (Desc) - Infin (___: ) - eyuw - because
avtovg (10 answers): Pers Pron-_ (Ref)-M-__ - avtog, 1, -0 - they
eomapedpovg (8 answers): Adj () -Acc-M-P - gorapedpog, -ov -

10 Oew/> (7 answers): 2 - Dat (Ref) - M - S - 0g0g, 0 -

aiio;: coordinate conjunction introducing independent clause in strong contrastive relationship -

10 TpecPutepilov (7 answers): 2 - Nom (Subj) - N - S - mpesBoteprov, 10 -

coviyov T ota (8 answers): Impf ( ) - Act-Ind -3 - P - cuveyo -

kat;: coordinate conjunction introducing independent clause -

nxpvknpilov (8 answers): (Incep) - Act - Ind - 3 - P - expoxtnpilo -

avtov ( answers): Pers Pron - Acc (Dir Obj) - M - P - avtog, 0, -0 -
> Conjugate the following verbs according to the appropriate model (12 answers):

Imperfect - Indicative Forms of €y (6 answers):
Person:  Singular Plural

3
Imperfect - Active - Indicative Forms of petadidou (6 answers):

Person:  Singular Plural
1
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¥ Decline the following nouns and noun derivatives according to the appropriate model:

The singular and plural forms of bayygliov, 10 (8 answers):

Singular: Plural:
Nom

Gen/Abla

Dat/Ins/Loc

Acc

Adjective 0god1daktog, -ov (16 answers):
Case: Masculine

Singular:

Nom

Gen/Abla

Dat/Ins/Loc

Acc

Plural:
Nom

Gen/Abla
Dat/Ins/Loc

Acc

Neuter

“aBlock diagram the above text according to the guidelines (25 answers):

(1) 6 Xpiotog £81800Ke T AoD

Kol

(2) otpabntol _ foav
Kol
(3) -~ akofy nkovov
011 0 Incodg
Kol
ol Adyol
Kol

ol panTat aveTpepov

(4) owtoc petedidov

THG Ay OmTNG Kol E1pNVNG

(5) v Swdaymv
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\

Kalt
(6) - ——— gloNKOVOV
31 avtovg evTapEdPoLg TG DD Eval.

(7) 70 mpesPuteplov
Kol
(8) mxuvknpiiov

********************GRADE CALCULATION********************

Number of Errors . Total Pts. 100.00
Missed accents and breathing marks
= 1/4 error per word Minus Pts.
Times 0.50 Missed
Total Pts. Missed . Grade

(Please record grade at top of page 1)
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